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UNIT 20 EXERCISES 6-10

LOGIC

2016B 6. Answer (C): Let the vertex of the triangle that lies in the first quadrant be
(x,2”). Then the base of the triangle is 2z and the height is 2, so %-‘2:1:-;1:‘3 = 64.
Thus 22 = 64, = 4, and BC = 22 = 8.
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1999 10. {C) Since both I and III cannot be false, the digit must be 1 or 3. So either I or
III is the false statement. Thus II and IV must be true and (C) is necessarily
correct. For the same reason, (E) must be incorrect. If the digit is 1, (B) and
(D) are incorrect, and if the digit is 3, (A) is incorrect.

2016A 10, Answer (B): The total number of seats moved to the right among the five
friends must equal the total number of seats moved to the left. One of Dee and
Edie moved some number of seats to the right, and the other moved the same
number of seats to the left. Because Bea moved two seats to the right and Ceci
moved one seat to the left, Ada must also move one seat to the left upon her

return. Because her new seat is an end seat and its number cannot be 5, it must
be seat 1. Therefore Ada occupied seat 2 before she got up. The order before
moving was Bea-Ada-Ceci-Dee-Edie (or Bea-Ada-Ceci-Edie-Dee), and the order
after moving was Ada-Ceci-Bea-Edie-Dee (or Ada-Ceci-Bea-Dee-Edie).



